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Present continuous3B
1	 Find and correct seven mistakes in the sentences.

1	 Conrad is danceing with Marta at the party.	 5	 My friends isn’t having fun. They want to go home.

	 	 	

2	 Alice and Declan don’t talking. They’re drinking 	 6	 ‘Can you see Marcus?’ ‘Yes. He’s chatting with Sally.’ 

orange juice.		

	 	 7	 Fred aren’t wearing jeans tonight. He’s wearing

3	 ‘You are coming to the party?’ ‘Yes, I am.’	 	 trousers.

	 	 	

4	 Oh no! They’re stoping the music now. It’s only 10 p.m.	 8	 ‘Does Anna playing in the garden? ‘No, she isn’t.’

	 	 	

2	 Look at the picture. Write true sentences with the affirmative or negative form of the present continuous.

1	 Two girls / sit / outside a café

	

2	 They / eat / ice cream

	

3	 The man on the bench / read / newspaper

	

4	 Two people / play / tennis

	

5	 They / wear / shorts

	

3	  SPEAKING   Work in pairs. Cover the picture. What can you remember? Ask and answer the questions.
1	 How many people are sitting outside the café?	 4	 Who is wearing a suit?
2	 What is the man on the bench doing?	 5	 How many boys are playing football?
3	 What are the tennis players wearing?	 6	 What is the woman with the dog wearing?

6	 The woman / outside the café / drink / coffee

	

7	 The man / outside the café / talk / on a mobile phone

	

8	 Two people / walk / with a dog

	

9	 The man with the dog / wear / casual clothes

	

10	 Some boys / play / football
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 	3B 	 Present continuous
Aims: To review and practise the present continuous.
Time: 10–15 minutes
Materials: 1 handout for each student

Exercise 1
•	 Give each student a handout and ask them to work 

in pairs. Set a time limit of three minutes to find and 
correct all the mistakes.

•	 Ask students to come to the board and write the correct 
sentences. Ask the rest of the class if they think the 
answers are correct or not and ask them to say why.

KEY
1	 Conrad is dancing with Marta at the party.
2	 Alice and Declan aren’t talking. They’re drinking orange 

juice.
3	 ‘Are you coming to the party?’ ‘Yes, I am.’
4	 Oh no! They’re stopping the music now. It’s only 10 p.m.
5	 My friends aren’t having fun. They want to go home.
6	 Correct
7	 Fred isn’t wearing jeans tonight. He’s wearing trousers.
8	 ‘Is Anna playing in the garden? ‘No, she isn’t.’

Exercise 2
•	 Draw students’ attention to the picture and elicit some 

of the vocabulary, e.g. park, café, tennis, football, dog. 
•	 Pre-teach the word bench.
•	 Ask students to work individually and give them 

enough time to write the present continuous sentences 
using the words given. Remind them that some of the 
sentences will be affirmative and some will be negative.

•	 Go round the class and check the answers. Ask students 
to make correct sentences for the negative sentences.

KEY
1	 Two girls are sitting outside a café.
2	 They are eating ice cream.
3	 The man on the bench isn’t reading a newspaper.
4	 Two people are playing tennis.
5	 They aren’t wearing shorts.
6	 The woman outside the café isn’t drinking coffee.
7	 The man outside the café isn’t talking on a mobile 

phone.
8	 Two people are walking with a dog.
9	 The man with the dog isn’t wearing casual clothes.

10	 Some boys are playing football.

Exercise 3
•	 Pre-teach the word suit.
•	 Students work in pairs. You could ask one of the 

students to turn over the handout and the other one to 
ask questions. Alternatively, ask both students to cover 
the picture and ask and answer the questions together.

•	 Look at the picture together and check the answers as a 
class.

KEY
1	 four
2	 He’s talking on his mobile phone.
3	 tracksuits
4	 the man walking with the dog
5	 three
6	 a skirt, jacket and boots




